EXAM 2
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Math 2924
3-27-15

Instructions Work all of the following problems in the space provided. If there is not enough room, you may

write on the back sides of the pages. Give thorough explanations to receive full credit.

1. Find the indefinite integrals:
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(You may want to use the formula [ csc?§ = —cot 6 + C)
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2. (15 points) Evaluate the improper integral / e 2% dz, showing all work.
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3. (15 points) Use the comparison theorem to determine whether the improper integral / 1728 dz is
1 z

convergent or divergent. Give a complete explanation with your answer.
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4. (15 points) The region shaded in the diagram is between the graph of y = 1/z, the z-axis, and the line
z = 1. Assume the region is occupied by a solid with density p = 1. For this solid, find

a. the mass M (use M = [y dz)
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b. the moment about the y-axis (use M, = [ zy dz)
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c. the z-coordinate Z of the center of mass (use Z = M, /M)




